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/* Riemann_zeta_f.c -o zeta */
/* 2016.9.16 by M. Suzuki */

#include <stdio.h>
#include <stdlib.h>
#include <math.h>

#define NMAX 50

double binom(int n, int k)
{
int i;
double x, z;
if (k==0) return z=n;
z=1;
i=k;
while (k>0)
{
Zz*=n;
n--;
k——;
if (n==0) n=1;
}
while(i>0)
{
z/=1;
i--;
}
return z;

}

int main(int argc, char *argv[])
{

double s, t, x, y, 2;

int i, j, n, k;

s=atof (argv[1]);
if (s==1) exit(0);
z=0;
for(n=0; n<NMAX+1; n++)
{
t=1/pow (2.0, n+1);
y=0;
for (k=0;k<n+1;k++)
{
x=pow (k+1, -s)*binom(n, k);
if((k % 2)==1) x*x=-1;
y+=x;
}
t*=y;
z+=t;
}
z/=(1-pow (2.0, 1-8));
printf ("%20.161f\n", z);



